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R 21 1,003 413,810 845 348,303 1 410
22 884 365,375 745 306,945 1 409
23 783 320,637 644 262,109 1 407
24 663 275,101 560 230,441 1 406
25 573 238,470 478 196,631 1 406
26 498 203,504 413 167,878 1 399
27 411 172,166 340 140,280 0 0
28 347 147,649 287 119,214 0 0
29 264 112,062 216 89,777 0 0
30 214 91,441 171 70,515 0 0
31 175 76,999 139 57,700 0 0
S 2 131 58,798 103 42,744 0 0
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R 21 110 22,622 47 42,575
22 95 19,209 43 38,812
23 79 16,445 38 33,922
24 68 13,776 34 30,476
25 62 12,751 32 28,680
26 57 11,462 27 23,763
27 46 9,849 25 22,037
28 37 8,348 23 20,087
29 31 7,274 17 15,001
30 26 5924 17 15,002
31 19 4,087 17 15,212
= 2 14 3,351 14 12,703
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Rk 21 4,848 2,956,627 4578 2,747,220 162 140,847
22 4973 3,044,911 4,709 2,840,026 160 138,045
23 5213 3,177,407 4,942 2,981,256 167 129,311
24 5,628 3,635,921 5,168 3,163,977 167 142,937
25 5,791 3,658,713 5,335 3,279,161 162 137,960
26 6,013 3,773,907 5544 3,389,863 167 139,676
27 6,175 3,942,354 5,722 3,664,961 165 139,435
28 6,286 4,038,608 5,854 3,675,788 160 136,403
29 6,224 3,936,516 6,055 3,801,388 165 138,903
30 6,265 3,994,295 6,108 3,868,090 165 138,200
31 6,334 4,319,271 6,136 3,951,616 163 137,107
S 2 6,545 4,245,506 6,345 4,079,992 163 136,564
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R 21 62 47,136 46 21,424
22 63 47,668 41 19,172
23 69 28,759 39 9,340
24 67 51,792 37 17,106
25 65 50,842 33 15,337
26 75 56,312 27 12,406
27 59 46,072 24 10,876
28 49 37,757 19 8,715
29 48 37,442 13 6,077
30 37 29,872 12 5,621
31 28 22,870 7 3,261
= 2 33 26,942 4 2,018
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